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ﬁg TREOBEBOSILHOKRES TERFEDOHBEEILNOKRES TEFEOBEBOEILHOKRES TREOHBESILADKES
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(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/mM%#BZ % - -~ -|3mEBZD -~ - -| 100kN/m#%#8% % - ~ -|3mEBZD -~ -
zhst -~ Fhst -~ Fhest ~ st ~
2 100kN/mM%#BZ 5 -~ -|3mEBZD -~ -| 100kN/m#%#8% % ~ -|3mEBZD -~
zhst ~ Fhst -~ Fhst ~ zhLst ~
3 100kN/mM%E#BZ 5 ~ -|3mEBZD ~ -| 100kN/m%#8% % ~ -|3mEBZD -~
zhst ~ Fhst ~ Fhst ~ zhLst ~
4 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD -~
zhst ~ Fhst ~ Fhst ~ st ~
5 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD -~
zhst ~ ZFhLst ~ Fhst ~ zhLst ~
P 100kN/mM%BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD -~
s 1.00 | 0.00 ~ 244 3244 | =nRS | 000 ~ 244 | 2.77 14.01 st 1.00 | 6.00 ~ 827 32.44 | =hLS | 6.00 ~ 827|277 14.01
- 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD -~
s 1.00 | 0.00 ~ 4.66 5809 | =nRS | 000 ~ 466 | 2.18 11.03 st 1.00 | 6.00 ~ 6.81 58.09 | =ns | 5,00 ~ 681|218 11.03
P 100kN/mM%E#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD -~
s 1.00 | 0.00 ~ 321 41.02 | #nS | 000 ~ 3521|2564 12.85 st 1.00 | 6.00 ~ 7.50 41.02 | =hS | 5.00 ~ 7.50 | 2.564 12.85
9 100kN/mM%#BZ % ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD -~
s 1.00 | 0.00 ~ 461 57.52 | #nS | 000 ~ 461|223 11.29 st 1.00 | 6.00 ~ 7.20 57.52 | =ns | 5.00 ~ 720|223 11.29
10 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -] 100kN/m#%#8% % ~ -|3mEBZD -~
s 1.00 | 0.00 ~ 379 47.70 | =N | 000 ~ 3.79 | 2.42 1225 st 1.00 | 6.00 ~ 7.50 47.70 | =hS | 5.00 ~ 750 | 2.42 1225
11 100kN/mM%BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD -~
s 1.00 | 0.00 ~ 585 73.14 | NS | 000 ~ 585|200 10.10 st 1.00 | 6.00 ~ 7.50 73.14 | TNRSY | .00 ~ 7.50 | 2.00 10.10
12 100kN/mM%#BZ % ~ -|3mEBZD ~ -] 100kN/m%#8% % ~ -|3mEBZD -~
zhst ~ Fhst ~ FhLst ~ zhLst ~
13 100kN/mM%#BZ % ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD -~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ ZFhst ~ FhLst ~ st ~
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